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02.03.2021 Max. Marks: 80
General Instructions:
(i) This paper is divided into two sections: A, B. All the questions are compulsory.

(i) Separate instructions are given with each section and question, wherever necessary. Read these
instructions very carefully and follow them faithfully.

(iii) Do not exceed the prescribed word limit while answering the questions.

(iv)  Attempt all questions of a section without mixing them with another section.

Part A -MCQs 40 Marks
READING

Read the passage given below.

1. The quality of fruits and vegetables that feed most of Delhi’s population is being affected by the
river’s pollution. It is not pesticides but a toxié mix of industrial waste that is contaminating the
fruits and vegetables that are being grown on the river’s beds. This is risking the lives of those
people who eat greens grown on the soil. The National Green Tribunal has been asking for a ban on
artificial colours applied to fruits and vegetables and the waxing of certain fruits such as apples.

2. That the government is conscious of this grave danger looming large over the city’s population
is evident from the fact that they recently issued an advertisement asking consumers to clean their
vegetables in various solutions, to do away with the chemical residue. They have advised the
consumers to discard the outer layers of leafy Vegetables such as lettuce and cabbage. In the case of
melons, carrots and turnips, consumers are advised to rub the surface first with dry brush or trowel
and then rinse it. Others advise that vegetables be kept in boiling water before being rinsed and
even more ingenuous solution to the problem is to soak the vegetables in diluted vinegar before

rinsing them. Another advice given is to dip the vegetables in ozonated water to help reduce
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pesticide residues.
3. The Energy and Resources Institute in its study has found that the level of toxic metals like
nickel, lead, manganese, chromium, and zinc are high in many water samples. Sometimes, it is as
high as ten times the accepted limits and in the water which is in the vicinity of thermal plants, the
mercury concentration is as high as 200 times more than the required level. Even polished food
grains are not free of this menace, for these items, contaminated with hazardous substances, are
being sold in wholesale and retail markets. Farmers growing vegetables and fruits for a livelihood
have thus no choice but to use the polluted water as the pollution and industrial agencies have
failed in their task of controlling the flow of effluents into the river.
On the basis of your understanding of the passage, answer ANY TEN questions from the 1x10=10
twelve that follow.
(i) On what has the government issued an advertisement?
a) Asking consumers to clean their vegetables in various solutions to do away with the chemical
residue
b) Asking industrial agencies to control the flow of effluent into the river
c¢) Asking farmers not to wash vegetables and fruits by contaminated water
d) Asking industrial agencies to reduce toxic metals like nickel, lead, etc.
(ii) In which task has the industrial agencies failed?
a) Washing fruits and vegetables with fresh water
b) Banning artificial colours on fruits and vegetables
c) Controlling the flow of effluents into the river
d) Providing solutions to clean fruits and vegetable
(i1i) Choose the statements from the given options that are NOT TRUE.
1. Pesticides are contaminating the fruits and vegetables that are being grown on the river’s bed.
2. Another advice given is to dip the vegetables in ozonated water to help reduce pesticide
residues.
3. The Energy and Resources Institute, in its study, has found that the level of toxic metals like
nickel, calcium, tin, silver, and zinc are high in many water samples.
4. Sometimes the level of toxic metals is as high as ten times the accepted limits.
a)2 and 4 b) 1 and 3 ¢)3and 4 d)1and?2
(iv) Why should farmers not be blamed for producing polluted vegetables?
a) Because it is the duty of industrial agencies to clean the water
b) Because they are growing fruits and vegetables for their livelihood and have been told to use

polluted water to water their crop
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c¢) Because they are helpless as fruits and vegetables are growing in hazardous soil
d) Because they are growing fruits and vegetables for their livelihood and have no choice but to
use the polluted water to water their crop
(v) Why is the quality of fruits and vegetables getting affected?
a) Due to industrial agencies b) Due to river pollution
c¢) Due to pesticides d) Due to ozonated water
(vi) Which of the given options mean same as ‘defile’.
a) contaminate b) industrial waste
¢) artificial colours d) waxing
(vii) Who is at risk from the toxic mix of industrial waste?
a) People who eat greens that are grown on the soil of the river
b) The government who is conscious of this grave danger
c) People who apply artificial colours on fruits and vegetables.
d) Consumers who discard the outer layers of leafy vegetables
(viii) What has been asked from National Green Tribunal?
1) To put a ban on ozonated water which has contaminated river’s water
2) To put a ban on diluted Vinégar
3) To put a ban on artificial colours
4) To put a ban on the waxing of certain fruits such as apples
a)3 and 4 b) land 3 c)l and 2 d)2 and 4
(ix) Choose the word from the given options that correlate with ‘natural’.
a) Looming b) conscious ¢) ingenuous d) residues
(x) Where are polished food grains, contaminated with hazardous substances, being sold?
a) To the government b) In retail markets
c¢) In wholesale markets d) Both b) and ¢)
(xi) What is the government’s advice to the consumers?
1.To discard the inner layers of leafy vegetables
2. To rub the surface of melons, carrots and turnips with a dry towel and then rinse it
3. To keep the vegetable in boiling water after being rinsed
4. To soak the vegetables in diluted vinegar before rinsing them
5. To bdip the vegetables in ozonated water

a)2,4and 5 b) 1 and 3 ¢) 1,3 and4 d) 3and5
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(xii) Select the option that makes the correct use of ‘hazardous’, as used in the passage, to fill
in the blank space.

a) German law forbids the dumping of German soil waste.

b) German law forbids the dumping of waste on German soil.

¢) German law forbids the dumping of waste on German soil.

d) German law forbids the dumping of waste on German soil.

Read the following passage and answer the questions that follow.

1. Road rage comes from aggressive driving techniques. Most people don’t consider themselves to
be an aggressive driver, but a lot of ‘regular’ driving skills actually qualify as driving aggressively.
Driving with high beams on 100% of the time, using your phone while you drive, or switching
lanes without signaling can all cause road rage.

2. The person who is most susceptible to road rage is a male under the age of 19.0ne out of every
two drivers who are recipient of aggressive behaviour while they are behind the wheel will respond
in kind. Over a seven-year study period, there were over 200 murders associated directly to road
rage. More than 12,000 preventable injuries have occurred because of road rage incidents. 2% of
those who have someone driving around them aggressively have admitted to trying to run that car
off the road.49% of road rage incidents are caused by a distracted driver or someone not paying
attention. 44% of road rage is triggered by someone getting cut off.

3. More than 90% of the people drive to work every day in some form of a commute. Because of
the extra traffic on the road, AAA estimates a 7% annual increase in the amount of road rage every
year. Only 32% of the people believe that a public awareness campaign against road rage would
actually be effective. 56% of men state that they experience road rage from another driver every
day. The percentage of women that said they experience road rage on a daily basis is 44%. No
official government agency keeps track of official road rage statistics. Much of this data comes
from 1997 or earlier.

4. The problem is that when a driver tries to correct a mistake and it occurs at the expense of
another driver, that other driver takes the situation personally. They get angry, the situation
escalates, and before you know it, you’ve got road rage on your hands. The best solution seems to
be is forgive first and let it go.

On the basis of understanding of your passage answer ANY TEN questions from the twelve
that follow.

(1) Choose the statements from the given options that are NOT TRUE.

1. The person who is most susceptible to road rage is a male under the age of 19.
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2. When a driver tries to correct a mistake and it occurs at the expense of the same driver, that
other driver takes the situation personally.
3. 56% of men state that they experience road rage from another driver every day.
4. 2% of those who have someone driving around them aggressively have admitted to trying to run
that car off the road.
5. 49% of road rage incidents are caused by the drivers who run late.
a)1and 5 b)2,4 and 5 ¢)2and 5 d)3 and 4
(ii) One out of every two drivers who are the recipient of an aggressive behaviour will respond in
while they are behind the wheel.
a) aggression b) harshly ¢) kind d) forgiving
(iii) From where does the road rage come?
a) Male under the age of 19
b) Aggressive driving techniques
c¢) Public Awareness
d) Mistakes of the other driver
(iv)Which of the following does not mean aggressive?
a) hostile b) contentious c) amiable d) threatening
(v) What all are the regular driving skills that actually qualify as driving aggressively?
1. Using your phone while you drive
2. Driving with high beams on 100% of the time
3. Extra traffic on the road
4. Male ego
5. Switching lanes without signaling
a)2,3 and 4 b) 1 and 3 c)3,4and 5 d) 1,2and 5
(vi) What is the major cause behind road rage incidents?
a) Distracted drivers b) Getting cut off
¢) Driving in a city d) Blocking merge lanes
(vii) ‘Commute’ in the 3™ para means:
a) to compensate b) to distract
c) travel to and fro d) to communicate while driving
(viii) AAA estimates a 7% annual increase in the amount of road rage every year because of :
a) construction delays b) the extra traffic on the road

¢) running late d) tailgating
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(ix) Male is more susceptible to road rage.
a) who is getting late b) who is stuck in the traffic
c¢) who drives in a new city d) under the age of 19
(x) Choose the statements from the given options that are TRUE.
1) Driving with high beams on 100% of the time can cause road rage.
2) Less than 12,000 preventable injuries have occurred because of road rage incidents.
3) The percentage of women that said they experience road rage sometimes is 44%
4) The official government agency does not keep track of official road rage statistics
a) 2) and 3) b) 1) and 4) c) All of the above d) 3)and 4)
(xi) 32% of the people believe that a public awareness campaign against road rage would:
a) not be effective b) be effective c) be useless d) be futile

(xii) What is the best solution that seems to avoid road rage?

a) To forgive first and let it go b) To distract from conversation
¢) To put the blame on others d)To run away from that place
LITERATURE

Read the extracts given below and attempt ANY ONE, by answering by answering the questions
that follow.
It is from these comrades in the struggle I learnt the meaning of courage. Time and again, I have
seen men and women risk and give their lives for an idea. I have seen men stand up to attacks and
torture without breaking, showing strength and resilience that defies the imagination.
(i) Who are referred as ‘comrades’ here?
a) People of South Africa
b) People who risked their lives for freedom
c¢) People who stood with the speaker
d) People who marched with the speaker
(ii) The word similar to ‘companion’ in the above lines is:
a) risk b) men c) struggle d) comrade
(iii) The meaning of courage according to the speaker is:
a) the ability to struggle b) the ability to learn
c) the ability to overcome fear d) the ability to bear torture
(iv) The men and women risked their lives to :
a) struggle b) bear torture without breaking
¢) get freedom from apartheid d) resilience
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(v) What defines the imagination?
a) Men and women risking and giving their lives
b) Patriots withstanding so much oppression and brutality without being broken
¢) Comrades struggling and learning the meaning of courage
d) None of these
OR
Richard Ebright has been interested in Science. Since he first began collecting butterflies—but not
so deeply that he hasn’t time for other interests. Ebright also became a champion debater and
public speaker and a good canoeist and all-round outdoors person. He is also an expert
photographer, particularly of nature and scientific exhibits.
(1) Why did Ebright collect butterflies?
a) Because Ebright loved butterflies
b) Ebright collected butterflies out of curiosity to seek information
c¢) Because Ebright’s mother had asked him to do so
d) Because Ebright had much knowledge about butterflies
(i1) What special trait of Ebright is shown through his interest of butterfly collection?
a) It shows his knowledge about butterflies
b) It shows his creativity
¢) It shows his management skill
d) It shows his keen observing powers, perseverance, patience and self-discipline
(iii) Which of the following statement is TRUE according to the passage?
a) Ebright first began by taking photographs of the butterflies.
b) Ebright was an all-around indoor person.
¢) Besides being a science expert, he was a good debater, canoeist and expert photographer.
d) Ebright has a deep interest in being a public speaker.
(iv)What does a ‘canoeist’ mean?
a) A person who paddles a canoe, i.e.a light boat.
b) A person who works in a Canon firm.
¢) A person who travels on a ship
d) A person who plays canon.
(v)What qualities does Ebright possess?
a) Ebright is also an expert photographer.
b) Ebright is a champion debater.
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c¢) Ebright is a good canoeist
d) All of these

Read the extract given below and attempt ANY ONE, by answering the questions that follow.

They do not sweat and whine about their condition,
They do not lie awake in the dark and weep for their sins,

They do not make me sick discussing their duty to God

(i) What is the attitude of the animals towards their condition?

a) They don’t complain b) They don’t weep
¢) Both a) and b) d) Neither a) nor b)
(i1) How do men disgust the poet?
- a) By discussing their jobs b) By discussing their duty to God
¢) By discussing their passion d) By discussing their desires

(iit) Who lies awake in the dark and weep for their sins?

a) Poet b) Animals
¢) Human beings d) All of these
(iv) Other than glorifying their religion, what else do men do to make the poet dislike them?
a) They complain b) They act materialistic
¢) They act puny d) All of these
(v) What is the rhyme scheme of the above passage?
a) aabb b) abab
¢ )abba d) free verse
OR

I am Rapunzel, I have not a care;

Life in a tower is tranquil and rare;

I’ll certainly not let down my bright hair!
(1) Who is the speaker of the above lines?

a) Amanda’s mother b) Amanda
¢) Poet d) Amanda’s father
(i) Why will she never let down her bright hair?
a) Because life there is peaceful b) Because it will get dirty
c¢) Because they are rare d) Because she does want to stay at home
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(iii) What kind of life did Rapunzel lead?
a) She lead a chaotic life
b) She led a short life
c) She lead a peaceful and detached life
d) She had a naive existence
(iv) What does she love about Rapunzel?
a) tower b) life
¢) dresses d) castle

(v) The poetic device in the given stanza is:

a) simile b) alliteration
c) allusion d) repetition
GRAMMAR
Choose the correct options to fill in the blanks to complete the passage. 1x3=3
It was a hot day so I decided to prepare salad for lunch. Outside,(i)
in the garden. Suddenly I (ii) scream. [ (iii) what was happening.
(i) a) a children was playing b) the children was playing
c) the children were playing d) the children was play
(ii) a) heard a loud noise, followed by a b) hear a loud noise, followed by a
¢) heard the loud noise followed by a d) hearing a loud noise followed by a
(iii) a) run outside to see - b) ran outside to saw
¢) runs outside to see d) ran outside to see

Read the conversation and choose the correct options to fill in the blanks to complete the
narration. 1x3=3
Donkey: Why don’t you bark to awaken our master?

Dog: Mind your own business.

Donkey: This is not the time to complain.

Dog: As he doesn’t care for me, even I won’t care for him.

The donkey asked the dog (i) . Dog told the Donkey to mind his own
business. The donkey further told him (ii) .But the dog said
(iii) , even he would not care for his master. |

(1) a) why he didn’t bark to awaken their master
b) why he doesn’t he bark to awaken their master
c) why he could not bark to awaken their master

d) why didn’t he bark to awaken their master
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(ii) a) that were not the time to complain b) that is not the time to complain
c) that was not the time to complain d) that has not the time to complain

(iii) a) that as his master doesn’t care for him b) as his master didn’t care for him
c) that as his master hadn’t cared for him d) isn’t caring for him

Fill in the blanks by choosing the correct options for ANY FOUR of the six sentences given

below. 1x4=4
(i) How money do you have in the bank?
a) enough b) much
¢) many d) little
Gi) It no trees, building or billboards.
a) have b) was
c) has d)is
(iii) If we do not follow this, the degrading society like ours fail the next day.
a) must b) will
c) ought to d) can

(iv) I don’t think there will be a severe shortage of usable water because there was

rainfall yesterday.

a) a lot of b) few ) any d) little
(v) A number of people reported to be missing in the train accident at Jhansi.
a) is b) are C) were d) was
(vi) I not budge an inch from the righteous path.
a) should b) shall c) can d) will

PART B — DESCRIPTIVE WRITING 40 Marks
Attempt ANY ONE of the following in 100-120 words. S

You are interested in taking online classes/tuition from www.studvonline.com, a reputed provider

of online classes in New York. Having found the site’s information inadequate, write a letter

enquiring about various details, regarding the functioning of the classes that you intend to avail

from. You are Marco, Los Angeles, California, U.S.
OR
You are Anmol the proprietor of Anmol Electrical, New Delhi, an electrical goods shop in New

Delhi. Write a letter to the wholesale dealer of electrical goods, placing an order for a few goods.
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Attempt ANY ONE of the following in 100-120 words.
The following table gives statistics showing the aspects of quality of life in five countries. Write an

analytical paragraph on the given information by summarizing and reporting the main features and

making comparisons where relevant.

GNP per Dail calorie | Life expectanc Infant mortality
Country | head(1982:US | “*5 S O0C | 2 rth(pears) Y| (per 1000 live
dollars) PP P y births)
Bangladesh 140 1877 40 132
Bolivia 570 2086 50 124
Egypt 690 2950 56 97
Indonesia 580 2296 49 87
USA 13160 3653 74 12
OR

The following pie chart shows the main reasons for migration to and from the UK in 2007. Write
an analytical paragraph based on the given information by summarising and reporting the main

features and make comparisons where relevant.
P

g T

MAIN REASON FOR MIGRATION TO/FROM THE -2007

IMMIGRATTION W MIGRATION

1 5%

L1 A — . '
W Formal study B Accompany/join W Looking work. |
W Delinite wl:n M Nooreasiay staved Ciher |

s

LITERATURE
Answer ANY TWO questions in 20-30 words each, from (A) and (B) respectively.
(A) Any two
(1) What was the most fascinating thing that Valli saw on the street?
(ii) Describe the young seagull’s expression when he saw his mother with food.
(iii) For Frost, what do ‘fire’ and ‘ice’ stand for?
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11.

12.

13.

(B) Any Two
(i) Why is Sulekha called ‘Bholi’?
(i1) ‘But he was no more dishonest than I’. Explain. (Hack Driver)

(i11) Why did Matilda throw the invitation spitefully?

Answer ANY TWO questions in 40-50 words each, from (A) and (B) respectively.
(A) Any two

(i) Do you think that Lencho was right to call the post office employees a bunch of crooks? Why
or why not?

(i) In what way was Wanda  different from the  other  children?

(iii) How did Rajvir describe the view from the train?

(B) Any Two
(i) How did Griftin escape?
(i) How did Richard Ebright’s mother help him to become a scientist?

(iii))What was the thief’s reaction when he took Anil’s money?

Answer ANY ONE of the following in 100-120 words.

Describe the obligations which the author is talking about and also describe his feelings for them?
OR

What lesson on death and suffering did the Buddha teach Gotami in the chapter, The Sermon at

Benaras’?

Answer ANY ONE of the following in 100-120 words.

What evidence do you get of Tricki’s affluent living from the text?
OR
Why did Matilda change her lifestyle after the ball?

End of the Question Paper
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